

Pay Estimate Created Date: April 23, 2025

Final Estimate Number 6		ime Contractor 240517-D09 Magruder Paving, LLC					25 Net Ch	al Contract Amount hange Order Amount ht Contract Amount	\$1,180,866.50 (\$55,630.24) \$1,125,236.26		
Approval Date									By User		
April 23, 2025			Generated and Appro	ved (and s	should be co	onsidered Dra	aft) at the F	Project Office Level by	browns1		
May 6, 2025		Rev	ewed and Approved (and shoul	d be consid	ered Draft) a	the Resid	ent Engineer Level by	stutsb1		
May 6, 2025			Revie	wed and A	Approved at	the Central (Office Cont	rollers Office Level by	ramses1		
Original Completion	n Date	Current Co	npletion Date	Actual 0	Completion	Date	% of C	urrent Contract Amou	Int Complete		
November 1, 202	25	Novemb	er 1, 2025	- 1, 2025 Octo			ober 23, 2024 100.00%				
	Contrac	t Informational I	Dates		Milestones						
Date Description	Original	Completion Dat	e Current Complet	Current Completion Date			No Milestones Exist for Contract				
Acceptance Date	April 22,	2025	April 22, 2025	April 22, 2025							
Awarded Date	June 5, 2	2024	June 5, 2024								
Letting Date	May 17,	2024	May 17, 2024								
Notice to Proceed Date	July 8, 2024	July 8, 2024									
Open to Traffic Date			September 25, 20								

	.,									
		This Estimate	Previous	To Date						
240517-D09										
	Total Posted Items Pay	\$0.00	\$1,125,236.26	\$1,125,236.26						
	Gross Item Adjustments	\$0.00	(\$33,413.78)	(\$33,413.78)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
	-		\$1,091,822.48	\$1,091,822.48						
Contract Total Pa	ayable This Estimate:	\$0.00								
Items Paid This Estimate Period										
No Data Availab	ble									

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information								
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work								
JCD0043	FAS S403(83)	Resurface	BB, H, CC	COLE	on Route BB from Route 17 to Route H, on Route CC from Route C to Route 54 WB, and on Route H from Route E to SME									
otals by J	Job Numbe	rs												
JCD0043	Posted Item Pay Gross Item Adjustments Gross Item Pay		This Estimate \$0.00 \$0.00 \$0.00 \$0.00	Previous \$1,125,236.26 (\$33,413.78) \$1,091,822.48	To Date \$1,125,236.26 (\$33,413.78) \$1,091,822.48									
					\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00							



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
)517-D09	JCD0043	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	955.00	-665.00	290.00	TONS	290.00	\$69.96	\$20,288.4
		0001	0020	4071005	TACK COAT	13,719.00	-2,410.00	11,309.00	GAL	11,309.00	\$3.56	\$40,260.04
		0001	0030	6161005	CONSTRUCTION SIGNS	2,080.00	-520.00	1,560.00	SQFT	1,560.00	\$9.00	\$14,040.0
		0001	0040	6161025	CHANNELIZER (TRIM LINE)	100.00	-52.00	48.00	EA	48.00	\$22.00	\$1,056.00
		0001 0050 6161098A			CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	6.00	\$2,800.00	\$16,800.00
		0001 0060 6181000		6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$56,401.00	\$56,401.00
					4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	137,539.00	0.00	137,539.00	LF	137,539.00	\$0.14	\$19,255.46
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	131,381.00	0.00	131,381.00	LF	131,381.00	\$0.14	\$18,393.34
		0001 0090 6206108A		6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	72.00	0.00	72.00	LF	72.00	\$10.00	\$720.0
		0001	0100	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	12.00	-12.00	0.00	LF	0.00	\$20.00	\$0.0
		0050 0120 4020520 BITUMINO		6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,113.00	39.00	1,152.00	SQYD	1,152.00	\$17.22	\$19,837.4
				4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	3,409.40	25.20	3,434.60	TONS	3,434.60	\$86.28	\$296,337.2
		0051	0130	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	1,572.20	99.80	1,672.00	TONS	1,672.00	\$88.05	\$147,219.6
		0052 0140 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)			5,416.00	-72.20	5,343.80	TONS	5,343.80	\$88.76	\$474,315.6	
		0001	5001	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	0.00	12.00	12.00	LF	12.00	\$26.00	\$312.00
	Project J	CD0043 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,125,236.20
17-D09 Ove	erall - Total	Value Post	ed to Dat	e as of Repo	rt Generated Date							\$1,125,236.26



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

May 7, 2025

Contract ID: 240517-D09

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
JCD0043	0020	TACK COAT	Material	Туре	1	Oct 16, 2024	SYSTEM	\$40,260.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user proctd1 overridding Payment
					1	Oct 16,	SYSTEM	(\$40,260.04)	Estimate Exception 1 on the current Payment Estimate.
						2024		,	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
		Total				0.140	OVOTEN	\$0.00	
	0030	CONSTRUCTION SIGNS	Material		1	Oct 16, 2024	SYSTEM	\$13,833.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user proctd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Oct 16, 2024	SYSTEM	(\$13,833.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
		- Total						\$0.00	
	0040	CHANNELIZER (TRIM LINE)	Material		1	Oct 16, 2024	SYSTEM	\$1,056.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user proctd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Oct 16, 2024	SYSTEM	(\$1,056.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0040 -	- Total						\$0.00	
	0050	CMS W/O COMMUNICATION INTERFACE,	Material		1	Oct 16, 2024	SYSTEM	\$16,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user proctd1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		CONT F/			1	Oct 16, 2024	SYSTEM	(\$16,800.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0050 -	Total						\$0.00	
	0070	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		1	Oct 16, 2024	SYSTEM	\$15,404.37	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user proctd1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					1	Oct 16, 2024	SYSTEM	(\$15,404.37)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
			Other Item Adjustment	REFL 4		Dec 2, 2024	proctd1	\$826.92	85.9% of striping is in 105% bonus
				REFL - Total					
			Other Item	Adjustment -	Total			\$826.92	
	0070 -	- Total						\$826.92	
	0080	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		1	Oct 16, 2024	SYSTEM	\$14,714.65	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user proctd1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		IVIARAING			1	Oct 16, 2024	SYSTEM	(\$14,714.65)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
			Other Item Adjustment	REFL		Dec 2, 2024	proctd1	\$863.52	93.9% of striping is in 105% bonus
				REFL - Total				\$863.52	
			Other Item	Adjustment -	Total			\$863.52	
	0080 -	Total				_		\$863.52	
	0090	8 IN. WHITE WATERBORNE PAVEMENT	Material		2	Nov 4, 2024	SYSTEM	\$720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user proctd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.



Line Item Adjustments by Estimate

Contract ID: 240517-D09

					_				
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0043	0090	8 IN. WHITE WATERBORNE	Material		2	Nov 4, 2024	SYSTEM	(\$720.00)	
		PAVEMENT MARKING			3	Nov 18, 2024	SYSTEM	\$720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user proctd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Nov 18, 2024	SYSTEM	(\$720.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0090 -	Total						\$0.00	
	0110	MODIFIED COLDMILLING	Overrun	Overrun	1	Oct 16, 2024	SYSTEM	(\$654.36)	
		(DEPTH TRANSITIONS)			2	Nov 4, 2024	SYSTEM	\$654.36	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',17.22000 - 17.22000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0110 -	Total						\$0.00	
	0120	BITUMINOUS	Other Item	ACAD	1	Oct 16,	proctd1	(\$9,775.73)	3434.6 tons/3.3%AC/SL-22-7
	0120	PAVEMENT MIXTURE	Adjustment	ACAD - Tota		2024	proctar	(\$9,775.73)	545.0 101515.5 (04010E-22-1
		PG64-22 (SUR	Other Item	Adjustment - Total			(\$9,775.73)		
			Overrun	Overrun	1	Oct 16,	SYSTEM	(\$2,155.26)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			Overrun	Ovenun	1	2024	OTOTEM	(\$2,100.20)	
					2	Nov 4, 2024	SYSTEM	\$2,155.26	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',85.52619 - 86.28000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
			Price FUEL		1	Oct 16, 2024	SYSTEM	(\$2,588.45)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$2,588.45)	
			Price FUEL	- Total				(\$2,588.45)	
	0120 -	Total						(\$12,364.18)	
	0130	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Other Item Adjustment	ACAD	1	Oct 16, 2024	proctd1	(\$4,758.93)	1672Tons/3.3%AC/SL24-52
				ACAD - Tota	al			(\$4,758.93)	
			Other Item	Adjustment -	Total			(\$4,758.93)	
			Overrun	Overrun	1	Oct 16, 2024	SYSTEM	(\$8,712.18)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2 Nov 4, SYSTEM 2024		SYSTEM	\$8,712.18	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',87.29639 - 88.05000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
			Price FUEL		1	Oct 16, 2024	SYSTEM	(\$1,260.09)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$1,260.09)	
			Price FUEL - Total					(\$1,260.09)	
	0130 -	Total						(\$6,019.02)	
	0140	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Other Item Adjustment	ACAD	1	Oct 16, 2024	proctd1	(\$15,209.79)	5343.8Tons/3.3%/SL-022-7
					5	Apr 16, 2025	proctd1	\$2,335.09	This adjustment is to correct a mistake on Line No. 0140 where 2096.6 tons of asphalt was inadvertently put on October's index and should have been put on the September index which had a different rate. After taking off 2096.6 tons from the Oct. Index and adding it to the Sept index the new calculated A/C adjustment was less of a deduction. Original deduction on Est. 0001 was (15209.79) and new calculated deduction is (12874.70) 15209.79 - 12874.70 = 2335.09. Payment of 2335.09 dollars is owed to the contractor.
				ACAD - Tota	al			(\$12,874.70)	



Line Item Adjustments by Estimate

May 7, 2025

Contract ID: 240517-D09

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
JCD0043			Other Item	Adjustment -	Total			(\$12,874.70)		
			PAVEMENT MIXTURE PG64-22 (SUR	Price FUEL		1	Oct 16, 2024	SYSTEM	(\$3,846.32)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$3,846.32)		
	Price FUEL - Total							(\$3,846.32)		
	0140 - Total									
JCD0043	JCD0043 - Total									
Overall -	Overall - Total									



There are no contract adjustments to display for this contract.